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QUESTION 1

Which step temporarily assign a format to the sales variable?

A. Proc format; Formatsales commal2.; Run;

B. Data sasuer. Shoes Set sashelp,sheoes; Format sales commal2.;
C. Proc contents data=sashelp.shoes; Format Sales commal2.; Run;
D. Proc print data= sashelp. Shoes Format sales commal2.; Run;

Correct Answer: D

QUESTION 2

Which LABEL statement has correct syncytax?

A. Labell FName=\\' First Name\\' ; LName =; Last Name" ;

B. Labell FName=\\' First Name\\' LName =\\' Last Name" ;

C. Labell FName=\\' First Name\\' and LName =\\' Last Name" ;
D. Labell FName=\\' First Name\\' , LName =; Last Name" ;

Correct Answer: D

QUESTION 3

Which program generates the PROC MEANS report below?

A. proc means data=sashelp.class nodec; class Age; run;

B. proc means data=sashelp. class; group Age; run;

C. proc means data=sashelp. class; by Age; run;

D. proc means data=sashelp. class maxdec=0; var Age; run;

Correct Answer: B
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QUESTION 4

Which line contains a syntax error?

A. Line 3
B. Line 1
C. Line 2
D. Line 5

Correct Answer: B

QUESTION 5

Given the input data set WORK. GR_ANS with two character variables:

The following SAS program is submitted:

Which report is created?
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A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D
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